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$� 1 1 

�<VEF 

28-04-2022� 

���%& 

�D>GL �4=<5=G64==O �D<<VF>4 

4 &5E=V>>-5>>=><VG=V ?>>47=<><, ?>E<?4==O  

5 1. �>OE=NNG4 74?<E>4   

5 $>74V? 1 �DEVF5>FGD=>-5G4V65?L=V 6<DVL5==O  

5 1.1 %4D4>F5D<EF<>4 4V?O=>< 5G4V6=<FF64  

5 1.2 �<DVL5==O 75=??4=G  

6 1.3 �59T<=>-??4=G64?L=5 6<DVL5==O 5G4V6?V, &��   

7 $>74V? 2 �D74=V74FVO 5G4V65?L=<E D>5VF  

8 $>74V? 3 �D>F<?>656=V 74E>4<  

9 $>74V? 4 &5E=V>4 557?5>< F4 >E>D>=4 ?D4FV   

10 $>74V? 5 �E>D>=4 =46>>?<L=L>7> ?D<D>4=>7> E5D54>6<M4 

$>74V? 6. �4E>4< ?> 5=5D7>755D565==N 

 

11 $>74V? 7. &5E=>?>7VG=4 G4EF<=4  

12 $>7D4EG=>> >?4EG =4E?V4>V6 (6V4?>6V44?L=>EFV)  
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�D>5>F 6<>>=4=> 77V4=> 4VNG<E =>D< V ?D46<? F4 6<<>7 ?>656=>W 557?5>< V 74557?5GGNFL 

557?5G=G 4?O 6<FFO F4 74>D>69O 5>E??G4F4FVN >59T>FG ?D< 4>FD<<4==V 74E>4V6, M> 
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�><
5D 

F><G 
�>7=4G5==O �4=<5=G64==O �D<<VF>4 

1 �� 

�� 

�� 

�474?L=4 ?>OE=N64?L=4 74?<E>4 

�DEVF5>FGD=>-5G4V65?L=V DVL5==O 

�6545=<= >>LF>D<E 
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�>OE=N64?L=4 74?<E>4 

28-04-20223-�� 

&�%����-�������'�� ��������� �'�����, 

1. �4=<5=G64==O >5'T>F4 5G4V6=<FF64, <VEF5 =>7> 

D>7F4LG64==O. 

"�4?VF4?L=<= D5<>=F ?5DL>7>, FD5FL>7> F4 

G4EF>>6> 4DG7>7> >>D?GEG ��� "�5E5?>4", M> 

7=4E>4<FLEO 6 E<F &5D5E64, 6G?. �4D>4=4, 71, 

&OGV6EL>>7> D4=>=G, �4>4D?4FEL>>W >5?4EFV"  

2. �<4 5G4V6=<FF64 (=>65 5G4V6=<FF6>, 

D5>>=EFDG>FVO, >4?VF4?L=<= D5<>=F, F5E=VG=5 

?5D5>E=4M5==O), FD<64?VEFL 5>E??G4F4FVW. 

�4?VF4?L=<= D5<>=F, FD<64?VEFL 5>E??G4F4FVW 

60 D>>V6 

3. �474?L=4 >>LF>D<E=4 64DFVEFL 5G4V6=<FF64, 6 F. 

G. 5G4V65?L=<E D>5VF, GEF4F>G64==O, V=L<E 6<FD4F 

(F<E. 7D=. ). 

? 

4. �>65DE>6VEFL (?>65DE). 2 

5. %FG?V=L 6>7=5EFV=>>EFV 5G4<=>G. ��� 

8. �>FG6=VEFL, <VEF>VEFL, ?D>?GE>=4 

E?D><>6=VEFL(>EV5). 

? 

9. �474?L=4 ??>M4 (<2). 3664,31 

10. �?>M4 >4?VF4?L=>7> D5<>=FG(<2) 686,72 

12. �>>47=<>< 5=5D7>5D5>F<6=>EFV, DVG=4 ?>FD554 

6: 

 

?4?<6V (F<E.F) - 

6>4V (F<E.<3) - 

5?5>FD<G=V= 5=5D7VW (F<E.>�F;7>4)             - 

F5??>6V= 5=5D7VW (�>4?) - 

13. &D<64?VEFL 5G4V6=<FF64 (<VEOFV6). 2 

14. �?4E =4E?V4>V6 (6V4?>6V44?L=>EFV)  %%1 

15. �>4 >59T>F4 77V4=> 7 �� 018-2000  1263.5 

  



2 

 

 

�<. �V?L>. �D>. 7 4>>. �V4?. �4F4 2 

�D>. 

      

      

 
 

 

�=
6
. 

7
 >

5
. 

�
V4

?
<

E 
V 

4
4F

4 
�

4<
. 

�=
6
. 

7
 

28-04-20223-�� 

������%&, ���'���&��, �� /�� ��%���.&,%/ 

�>7=4G5==O �4=<5=G64==O  �D<<VF>4 

��� �.2.2-12:2019 �?4=G64==O V 745G4>64 F5D<F>DV=.  

��� �.1.2-2:2006 �464=F465==O V 6??<6<.   

��� �.1.1-12:2014 �G4V6=<FF6> G E5=E<VG=<E D4=>=4E '>D4W=<.  

�%&' � �.2.6-200:2014 �5EGM<5 < >7D4644NM<5 >>=EFDG>F<<.   

%�<� 2. 02. 01-83*  �E=>64=<O 744=<= < E>>DG65=<=.   

��� �. 2. 6-98:2009 �5F>==O5 < 65?57>55F>==O5 >>=EFDG>F<<.   

��� �. 1.1-7:2016 �>656=4 557?5>4 >5'T>FV6 5G4V6=<FF64.   

��� �. 2.6-220:2017 �>=EFDG>FVW 5G4<=>V6 V E?>DG4. �>>D<FFO 5G4<=>V6.   
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28-04-20223-�� 

I. �>OE=N64?L=4 74?<E>4 

1 �$%�&��&'$��-�'�����,�� $�,���/ 

1.1 %4D4>F5D<EF<>4 4V?O=>< 5G4V6=<FF64 F4 5G4V6?V 

7 
?/? 

�>>47=<>< 
%4D4>F5D<EF<>4 ?>>47=<>V6, ?D<==OF5 

6<DVL5==O 

1 �4D5E4 4V?O=>< �4>4D?4FEL>4 >5?., &OGV6EL><= D4=>=, E<F. 

&5D5E64, 6G?.  �4D>4=4, 71 

2 �?V<4F<G=<= D4=>=. ���� 

3 %5D54=O F5<?5D4FGD4 

7>6=VL=L>7> ?>6VFDO 74 

>?4?N64?L=<= ?5DV>4 

+1,7°% 

4 $>7D4EG=>>64 F5<?5D4FGD4 

7>6=VL=L>7> ?>6VFDO 

-16°% 

5 &D<64?VEFL >?4?N64?L=>7> 

?5DV>4G 

165 4V5 

6 %5=E<VG=VEFL D4=>=G 

5G4V6=<FF64 

7 54?V6 

7 �?<E>46>>74E<EF �4 5G4V6?OE =4O6=> 6EF4=>6?5=<= 

5?<E>46>>74E<EF 6V4?>6V4=> 4> 6<<>7 �%&' 

EN 62305:2012 «�4E<EF 6V4 5?<E>46><». 

1.2 �DEVF5>FGD=>-5G4V65?L=V DVL5==O 

�D>5>F>< ?5D5454G4TFLEO: 

1. �4<V=<F< 45D569O=V 6V>=4 (63LF)  

2. �G<EF>4 F4 D4D5G64==O 465D5= (33LF) 

3. ,?VDG64==O F4 D4D5G64==O ?V4?>7< 

4. $4D5G64==O EFV= 

5. �G<EF>4 F4 D4D5G64==O EF5?V 

2 �$���& �$������&�� �'�����&&��. 

2.1 �<EV4=V 44=V. 

�D>5>F >D74=V74FVW 5G4V6=<FF64 D>7D>5?5=<= =4 ?V4EF46V: 

- �444==O =4 ?D>5>FG64==O 

- �<EV4=<E 44=<E 4?O D>7D>5>< ���. 

�D< 6<>>=4==V ?D>5>FG >D74=V74FVW 5G4V6=<FF64 6<>>D<EF4=V =>D<4F<6=V 4>>G<5=F< 

V ?5DL>465D5?4: 
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��� � 3.1-5-96 3 «�D74=V74FVW 5G4V65?L=>7> 6<D>5=<FF64» 

��� � 2.2-3-97 3 «%>?44, ?>DO4>> D>7D>5?5==O, ?>7>465==O F4 74F65D465==O ?D>5>F=>W 

4>>G<5=F4FVW 4?O 5G4V6=<FF64» 

��� �.3.2-2-2009 3 «%<EF5<4 EF4=44DFV6 557?5>< ?D4FV. �E>D>=4 ?D4FV V ?D><<E?>64 

557?5>4 G 5G4V6=<FF6V. �E=>6=V ?>?>65==O» 

�>44F>>64 ?VF5D4FGD4. 

'5D7>6VEFL F4 G<>6< ?D>6545==O >4?VF4?L=>7> D5<>=FG. 

� E>4V >4?VF4?L=>7> D5<>=FG D5LF4 5G4V6?V 5>E??G4FGTFLEO. �?O 557?5D55V==>7> 

DG=>FV>=G64==O E44>4 5G4V65?L=V D>5>F< 6<>>=GNFLEO ?>5F4?=>, G 6V4?>6V4=V= G5D7>6>EFV: 

1. 6<>>=GTFLEO 45<>=F46 EF4D<E 6V>>= F4 >G<M5==O  465D5= 7 ?>>D4E>>N. 

2. 6<>>=4==O L?VDG64==O F4 D4D5G64==O ?V4?>7< 

3. 6<>>=4==O 6EVE 74??4=>64=<E D>5VF ?> >74>5?5==N ?D<<VM5=L  

2.2 �5F>4< 6545==O >E=>6=<E 5G4V65?L=>-<>=F46=<E D>5VF. 

�D74=V74FVW 5G4V65?L=>7> <4=44=G<>4. 

�?4LFG64F< E<7=4?L=G EFDVG>G =4 6E>44E =4?5DL<== F4  4DG7<= ?>65DE, M>5 74?>5V7F< 

<>6?<6>EFV 6E>4G =4 5G4<4=44=G<> EF>D>==VE >EV5. 

�5?4LFG64F< <4=44=G<> 4?O EF>O=>< 5G4V65?L=<E <4L<= V <5E4=V7<V6. 

�<7=4G<F< <4=44=G<> 4?O F<<G4E>6>7> E>?44G64==O <4F5DV4?V6. 

�<>>=4F< >7>D>465==O ?5D<<5FDG ?V4 6V>=4<< ?V4 G4E WE 74<V=<. 

�>EF46>4 >>=EFDG>FV= =4 5G4V65?L=<= <4=44=G<>. 

�>EF46>4 6EVE 5G4V65?L=<E 64=F46V6 ?5D5454G4TFLEO 46F>FD4=E?>DF><. �>DF>6V 46F><>5V?V 

3 4?O LFGG=<E 64=F46V6. 

$>764=F465==O 5?5<5=FV6 >>=EFDG>FV= V <4F5DV4?V6 =4 ?D<>5T>F>6><G E>?44V ?>6<==> 

?D>6>4<F<EO 7 74EF>EG64==O< <5E4=V7<V6 F4 ?D<EF>EG64=L  ?V4 >5DV6=<FF6>< <4=EFD4, O><= <4T 

E?5FV4?L=G ?V47>F>6>G, G 6V4?>6V4=>EFV 7 5G475=??4=><. 

%>?44G64==O 5?5<5=FV6 >>=EFDG>FV= ?>6<==> ?D>6>4<F<EO G 6V4?>6V4=>EFV 7 

F5E=>?>7VG=>N ?>E?V4>6=VEFN F4 <>=F465<. 

2.3 �>47V6>< ?D> <5F>4< 6<>>=4==O >>=FD>?N 74 O>VEFN E?>DG465=L. 

/>VEFL <>=F46=<E D>5VF E4D4>F5D<7GTFLEO EFG?5=N WE 6V4?>6V4=>EFV 6<<>74< ?D>5>FG, 

��� V ��%&V6. �V4E<?5==O 6V4 6<<>7 6>474=<E 4>>G<5=FV6 ?>6<==> 5GF< E6>TG4E=> 6<O6?5=> F4 

6<?D46?5=>, M> 4>EO74TFLEO >D74=V74FVN, O>4 6<>>=GT >?5D4FV==<= >>=FD>?L 74 O>VEFN D>5VF. 

2.4 �<7=4G5==O FD<64?>EFV 5G4V65?L=<E D>5VF 

�>D<4F<6=G FD<64?VEFL >4?VF4?L=>7> D5<>=FG 6<7=4G4T<> 7 6<>>D<EF4==O< =>D< �%&' 

��.3.1-22:2013 «�<7=4G5==O FD<64?>EFV 5G4V6=<FF64 >59T>FV6», D>7D4EG=>> =>D<4F<6=>W 

FD<64?>EFV D>5VF ?D>6>4<<> =4EFG?=<< G<=><: 

�7V4=> =>D< �%&' ��.3.1-22:2013, ?. 4.3. FD<64?VEFL D>5VF &D (4V5) 6<7=4G4NFL 74 

D>D<G?>N: 

���
�

� 7 � 
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28-04-20223-�� 

�5: 

Q 3 &DG4><VEF>VEFL D>5>F<, ?N4-7>4<= = 2542=317,75 ?N4/4>5< 

n 3 >V?L>VEFL D>5VF=<>V6 G 5D<744V, G>? = 5 

N 3 >V?L>VEFL 7<V= =4 4>5G, 7<V=/4>54 = 1 

���
317,75

5 7 1 = 63,55 4>5< 

�F65, 7474?L=4 FD<64?VEFL 5G4V65?L=>-<>=F46=<E D>5VF E>?444T 86 4V5 (7 6D4EG64==O< 

6V4DO465=L) 

 

3 �$�&�������� ��%���. 

3.1 �474?L=V 44==V. 

�4E>4< ?> 74557?5G5==N 6<5GE>6>W F4 ?>656=>W 557?5>< ?5D5454G5=V 77V4=> ��� �. 1. 1-

7-2016 D. 

�G4V6?O 6V4=5E5=4 4> ��� EFG?5=O 6>7=5EFV=>>EFV. 

�>6=VL=T ?>656>74EV==O 74V=E=NTFLEO 6<W74>< ?>656=>W <4L<=< 74 6<>?<>>< 

�4557?5G5==O =4?56=>W ?>656=>W 557?5>< 4>EO74TFLEO L?OE><: 

- �?4LFG64==O E<EF5<< ?D>F<?>656=>W E<7=4?V74FVW. 

- �5D5454G5=> 6V4>D<FFO 465D5= ?> DGEG 564>G4FVW. 

- �55?V F4 V=65=F4D 6 ?D<<VM5==V D>7<VM5==V 7 6D4EG64==O< 6<<>7 ?>656=>W 557?5><. 

- ,<D<=4 L?OEV6 564>G4FVW ?D<==OF4 =5 <5=L5 1,2 < 

- �E5 ?D>F<?>656=5 GEF4F>G64==O F4 >5?44=4==O ?>6<==> 5GF< E5DF<DV>>64=<< 6 

'>D4W=V. 

- �4EF>E>6G64F< 5G4V65?L=V <4F5DV4?< ?<L5 FV, M> <4NFL 44=V M>4> ?>656=>W 557?5><. 

3.2 �D74=V74FV==V 74E>4< M>4> 74557?5G5==O ?>656=>W 557?5><. 

�>656=4 557?5>4 ?V4?D<T<EF64 ?>6<==4 6V4?>6V44F< 6<<>74< �4>>=G '>D4W=< "�D> 

?>656=G 557?5>G", "�D46<? ?>656=>W 557?5>< 6 '>D4W=V" F4 6<<>74< 6V4?>6V4=<E =>D<4F<6=<E 

4>FV6. 

�4557?5G5==O ?>656=>W 557?5>< ?V4?D<T<EF6 ?>>?444TFLEO =4 WE >5DV6=<>V6 V 

G?>6=>6465=<E =<<< ?>E44>6<E >EV5, 6V4?>6V44?L=<E 74 ?>656=G 557?5>G >>D5<<E 5G4V65?L, 

E?>DG4, ?D<<VM5=L, 4V?L=<FL F>M>, F5E=>?>7VG=>7> F4 V=65=5D=>7> GEF4F>G64==O, GFD<<4==O V 

5>E??G4F4FVN F5E=VG=<E 74E>5V6 ?D>F<?>656=>7> 74E<EFG. �5>6'O7>< M>4> 74557?5G5==O 

?>656=>W 557?5><, GFD<<4==O F4 5>E??G4F4FVW 74E>5V6 ?D>F<?>656=>7> 74E<EFG ?>6<==V 5GF< 

6V4>5D465=V G 6V4?>6V4=<E ?>E44>6<E 4>>G<5=F4E (DG=>FV>=4?L=<E >56'O7>4E, V=EFDG>FVOE, 

?>?>65==OE F>M>). 

�4 ?V4?D<T<EF6V 7 6D4EG64==O< =>7> ?>656=>W =5557?5>< =4>47>< ?>6<=5= 5GF< 

6EF4=>6?5=<= 6V4?>6V4=<= ?D>F<?>656=<= D56<< 7 ?.3.3 "�>DO4>> D>7E?V4G64==O =5M4E=<E 

6<?44>V6" , "�D46<? ?>656=>W 557?5>< 6 '>D4W=V". 

�4<V=VEFD4FVO ?V4?D<T<EF64 7>5>6'O74=4 : 

4 D>7D>5?OF< >><??5>E=V 74E>4< M>4> 74557?5G5==O ?>656=>W 557?5>< 6V4?>6V4=> 

4> =>D<4F<6=<E 4>FV6 7 ?>656=>W 557?5><, D>7D>5?OF< V 74F65D46G64F< ?>?>65==O, 

V=EFDG>FVW, V=LV =>D<4F<6=V 4>F<, M> 4VNFL 6 <564E ?V4?D<T<EF64, 74V=E=N64F< 
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28-04-20223-�� 

?>EFV==<= >>=FD>?L 74 WE 4>45D64==O<; 

4 6?D>6446G64F< 4>EO7=5==O =4G>< V F5E=V><, ?>7<F<6=<= 4>E6V4; 

4 74557?5GG64F< 4>45D64==O ?D>F<?>656=<E 6<<>7 EF4=44DFV6, =>D<, ?D46<?, 4 

F4>>6 6<>>=4==O 6<<>7 ?D<?<EV6 V ?>EF4=>6 >D74=V6 45D646=>7> ?>656=>7> =47?O4G ; 

4 >D74=V7>6G64F< =46G4==O ?D4FV6=<>V6 ?D46<?4< ?>656=>W 557?5>< F4 ?D>?474=4G 

74E>4V6 M>4> WE 74557?5G5==O; 

4 G D47V 6V4EGF=>EFV 6 =>D<4F<6=<E 4>F4E 6<<>7, =5>5EV4=<E 4?O 74557?5G5==O 

?>656=>W 557?5><,=5>5EV4=> 66<64F< 6V4?>6V4=<E 74E>4V6, ?>7>46GNG< WE 7 >D74=4<< 

45D646=>7> ?>656=>7> =47?O4G; 

4 GFD<<G64F< G E?D46=><G EF4=V 74E>5< ?D>F<?>656=>7> 74E<EFG V 76'O7>G, ?>656=G 

F5E=V>G, >5?44=4==O F4 V=65=F4D=5 4>?GE>4F< WE 6<>>D<EF4==O =5 74 ?D<7=4G5==O<; 

4 EF6>DN64F<, G D47V ?>FD55<, 6V4?>6V4=> 4> 6EF4=>6?5=>7> ?>DO4>G ?V4D>74V?< 

?>656=>W >E>D>=< F4 =5>5EV4=G 4?O WE DG=>FV>=G64==O <4F5DV4?L=>-F5E=VG=G 547G; 

4 ?>4464F< =4 6<<>7G 45D646=>W ?>656=>W >E>D>=< 6V4><>EFV F4 4>>G<5=F< ?D> EF4= 

?>656=>W 557?5>< >5'T>FV6 V ?D>4G>FVW, M> =<<< 6<D>5?OTFLEO; 

4 74V=E=N64F< 74E>4< M>4> 6?D>64465==O 46F><4F<G=<E 74E>5V6 6<O6?5==O V 74EV==O 

?>656 V 6<>>D<EF4==O 4?O FVTW <5F< 6<D>5=<G>W 46F><4F<><; 

4 E6>TG4E=> V=D>D<G64F< ?>656=G >E>D>=G ?D> =5E?D46=VEFL ?>656=>W F5E=V><, 

E<EF5< ?D>F<?>656=>7> 74E<EFG, 6>4>?>EF4G4==O, 4 F4>>6 74>D<FFO 4>DV7 V ?D>W74V6 =4 

E6>W= F5D<F>DVW; 

4 ?D>6>4<F< E?G65>65 D>7E?V4G64==O 6<?44>V6 ?>656. 

' >>6=><G ?V4D>74V?V (F5EG, <4=EF5D=V, ?45>D4F>DVW G< V=L><G ?D<<VM5==V) ?>6<==4 

5GF< >?D4FL>64=4 V=EFDG>FVO M>4> 74E>4V6 ?>656=>W 557?5>< V EE5<4 564>G4FVW ?N45= 7 

?D<<VM5==O, 74F65D465=4 6?4E=<>><, 6<6G5=4 6 E<EF5<V 6<D>5=<G>7> =46G4==O F4 6<6VL5=4 =4 

6<4=><G <VEFV. 

3.3 �4E>5< ?>656>74EV==O. 

�G4V6?O ?>6<==4 5GF< 74557?5G5=4 ?5D6<==<<< 74E>54<< ?>656>74EV==O (77V4=> =>D<). 

�5D6<==V 74E>5< ?>656>74EV==O ?V4?O74NFL ?5DV>4<G=><G >5E?G7>6G64==N, O>5 6>?NG4T 

F4>V >?5D4FVW: 

- >G<M5==O 6V4 ?<?G, 5DG4G F4 E?V4V6 >>D>7VW 

- 6V4=>6?5==O ?>D4D5G64==O. 

�?O 74557?5G5==O 6<5GE> V ?>656>557?5G=>EFV ?D>5>F>< ?5D5454G5=>: 

- 74EF>EG64==O =57>DNG<E <4F5DV4?V6 6 >74>5?5==V 5G4V6?V 

- >E=>6=5 >5?44=4==O ?5D5454G5=> 6 6<5GE>74E<E=><G 6<>>=4==V. 

4 &�%���� ������� &� �%�$��� �$�&� 

4.1 �4E>4< ?> ?>656>-6<5GE>557?5FV. 

�4F57>DVO ?D<<VM5==O 74 6<5GE>- V ?>656=>N =5557?5>>N 77V4=> 7 �����.07.005 «�». 

�>=F46 5?5>FD>GEF4F>G64==O 6 ?>656>=5557?5G=<E ?D<<VM5==OE ?5D5454G<F< 6 6V4?>6V4=>EFV 

7 G<>64<< D>74V?G V�� �'- V �%�. 

�4E>4< ?> F5E=VFV 557?5>< V >E>D>=V ?D4FV. 
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�D< 5G4V65?L=>-<>=F46=<E D>5>F4E >5DG64F<EO D>74V?4<< 4VNG<E ?D46<? ��� �.�.2-2-

2009. �E>D>=4 ?D4FV i ?D><<E?>64 557?5>4 6 5G4V6=<FF6V. 

�<>>=4==O D>5VF 557 ?D>5>FG 6<D>5=<FF64 D>5VF, M> 6>?NG4T DVL5==O ?> 557?5G=><G 

6<D>5=<FF6G D>5VF, =5 4>76>?OTFLEO. 

� <5F>N EF6>D5==O =>D<4?L=<E G<>6, =>D< 6<D>5=<G>W ca=VF4DVW, ?5D5454G5=V ?>5GF>6V 

?D<<VM5==O 6<DVL5=5 ?<F4==O 74557?5G5==O 5?5>FD>5=5D7VTN, 6>4>N, F5??><, 4?F5G>4<< 7 

<54<>4<5=F4<<. 

�EV, EF> 7=4E>4<FLEO 6 7>=V p>5VF, =>E<F< >4E>< 77V4=> ��%& 12.4.087-84, ?>6<==V 5GF< 

74557?5G5=V E?5F>4O7><, 6V4?>6V4=> ?>D< D>>G, 4 FV, EF> ?D4FNT =4 6<E>FV 4>44F>>6> ?>OE4<< 

7V74=> ��%& 12.4.089-86. 

$>5>GV F4 E?G65>6FV 6 ?D>F5EV D>5>F< ?D>=F< =46G4==O, V=EFDG>F46 ?> ?<F4==O< >E>D>=< 

?D4FV F4 =444==O ?5DL>W 4>?><>7<  ?>F5D?V?<< 6V4 =5M4E=<E 6<?44>V6, V ?D46<?4E ?>654V=>< 

?D< 6<=<>=5==V 464DV=. 

 $>5>GV F4 E?G65>6FV ?>6<==V 4>FD<<G64F<EO  V=EFDG>FVW ?> >E>D>=V ?D4FV, M> 

6EF4=>6?NNFL ?D46<?4 6<>>=4==O D>5VF F4 ?>654V=>< =4 5G4V65?L=><G <4=44=G<>G. 

�>6=5 D>5>G5 =4 D<LF>64==OE, M> ?D<?O74T 4> 5G4<=>G G< E?>DG4<, ?>6<==> 5GF< 

74E<M5=5 765DEG =4EF<?><, D>7F4L>64=<< =4 6<E>FV =5 6<M5 2 < 6V4 D>5>G>7> =4EF<?G. />M> 

G4E 6<>>=4==O D>5VF DGE ?N45= G< FD4=E?>DFG ?V4 D<LF>64==O<< i ?>5?<7G 6V4 =<E =5 

?5D5454G4TFLEO, G?4LFG64==O 74E<E=>7> (=<6=L>7>) =4EF<?G =5 >5>6'O7>>65. 

�V4 G4E D>5>F< 7 ?D<EF46=<E 4D45<= =4 6<E>FV 5V?LL5 =V6 1,3 < =5>5EV4=> 

6<>>D<EF>6G64F< ?>OE, M> ?D<>DV??NTFLEO 4> >>=EFDG>FVW E?>DG4< 45> 4> 4D45<= 74 G<>6< WE 

74>DV??5==O 4> 5G4V65?L=<E >>=EFDG>FV=. 

�> 6<>>=4==O 5?5>FD>764DN64?L=<E F4 747>?>?G<5=56<E D>5VF =4 6<E>FV 5 < i 5V?LL5 

4>?GE>4NFLEO 764DN64?L=<><, ?D>=L?< E?5FV4?L=<= <54<G=<= >7?O4, <4NFL EF46 65DE>?47=<E 

D>5VF =5 <5=L5 >4=>7> D>>G, D>7DO4 764DN64?L=<>4 =5 =<6G5 III. 

�?O 74?>5V74==O ?44V==O ?D4FNNG<E 7 6<E>F< =5>5EV4=> 6 ��$ ?5D5454G4F<: 

- %>>D>G5==O >5EO7V6 65DE>?47=<E D>5VF 74 D4EG=>> 74EF>EG64==O >>=65TD=>7> G< 

G>DG?=5=>7> E>?444==O, 65?<>>5?>G=>7> G< 557>D4=>6>7> <5F>4G <>=F46G; 

- ?5DL>G5D7>65 G?4LFG64==O >7>D>46G64?L=<E (EFV=, >7>D>6 54?>>=V6 i ?D>DV7V6 

F>M>); 

- 74EF>EG64==O >7>D>46G64?L=<E ?D<EFD>W6, M> 6V4?>6V44NFL >>=EFDG>F<6=<< i 

>5'T<=>-??4=G64?L=<< DVL5==O< >5'T>F4, M> E?>DG46GTFLEO, i 744>6>?L=ONFL 6<<>74< 557?5>< 

?D4FV ; 

- 6<7=4G5==O <VEFO i E?>E>5V6 >DV??5==O EFD4EG64?L=<E >4=4FV6 i 74?>5V6=<E ?>OEV6.  

�DV< FL>7>, G 74E>44E ?>6<==V 5GF< 747=4G5=V: 

- 74E>5< ?V4<>MG64==O, ?D<7=4G5=V 4?O 6<>>=4==O >>=>D5F=>7> 6<4G D>5VF G< 

>>D5<>W >?5D4FVW; 

- 74E>5< ?V4V=<4==O ?D4FV6=<>V6 =4 D>5>GV <VEFO. 

�7V4=> ?D46<? ?D46<? ?>656=>W 557?5>< 6 '>D4W=V, 5G4V6?V, E?>DG4<, ?D<<VM5==O, 

F5E=>?>7VG=V GEF4=>6>< ?>6<==V 5GF< 74557?5G5=V 4> ?>G4F>G ix 5>E??G4F4FVW F4 =4 EF44VW 

5G4V6=<FF64 ?5D6<==<<< 74E>54<< ?>656574EV==O: 6>7=574E=<>4<< (6G7?5><E?>F=V 

6>7=574E=<>< ���-5; ?>D>L>>6V 6>7=574E=<>< ��-5), OM<>4<< 7 ?VE>><, 5>G>4<< 7 6>4>N, 

?>>D<64?4<< 7 =57>DNG>7> F5??>V7>?OFV==>7> ?>?>F=4, 7DG5>6>6=O=>W F>4=<=<, ?>6EFV, 



8 

 

 

�<. �V?L>. �D>. 7 4>>. �V4?. �4F4 8 

�D>. 

      

      

 
 

 

�=
6
. 

7
 >

5
. 

�
V4

?
<

E 
V 

4
4F

4 
�

4<
. 

�=
6
. 

7
 

28-04-20223-�� 

?>656=<<< 6V4D4<<, E>6>>6<<< ?>?4F4<<, ?>656=<< V=EFDG<5=F>< (74>4<<, ?><4<<, E>><D4<< 

F>M>), O>V 6<>>D<EF>6GNFLEO 4?O ?>>4?V74FVW i ?V>6V44FVW ?>656 G WE ?>G4F>>6V= EF44VW D>76<F>G. 

�<5VD F<?G F4 6<7=4G5==O ?>FDV5=>W >V?L>>EFV 6>7=574E=<>V6 74V=E=NTFLEO 77V4=> 7 

F45?<FO<< 4>44F>G 73 <�D46<? ?>656=>W 557?5>< 6 '>D4W=V= 6  74?56=>EFV 6V4 WE 

6>7=574E=>W 744F=>EFV, 7D4=<G=>W ??>MV,>?4EG ?>656V 7>DNG<E D5G>6<= F4 <4F5DV4?V6 G 

74E<MG64=><G ?D<<VM5==V 45> =4 >59T>FV. 

�EV 74EF>E>64=V 6>7=574E=<>< ?>6<==V 5GF< E5DF<DV>>64=<<< =4 F5D<F>DVW '>D4W=<. 

$GG=V 6>7=574E=<>< 6EF4=>6<F< G ?57>>4>EFG?=<E F4 ?><VF=<E <VEFOE, ?D< FL><G 

74557?5G<F< WE 74E<EF 6V4 ?>FD4??O==O ?DO<<E E>=OG=<E ?D><5=V6 

&5E=VG=5 >5E?G7>6G64==O 6>7=574E=<>V6 ?>6<==5 74V=E=N64F<EO G 6V4?>6V4=>EFV 7 

?4E?>DF4<< 746>4V6-6<D>5=<>V6. 

�>7=574E=<>< ?>6<==V <4F<: V=65=F4D=V =><5D< F4 ??><5< =4 ?D<EFD>OE DGG=>7> ?GE>G. 

3 ?5D6<==<E 74E>5V6 ?>656574EV==O =4 <4=44=G<>G =5>5EV4=> D>7<VEF<F< M<F 45D56'O=<= 

O><= G>><??5>F>64=<=: 

" 74>>< ?>656=<< - 2 LF.; 

" ?><>< - 2 LF.; 

" 6>7=574E=<>4<< (��-5 45> ���-5) - �LF.; 

" 6V4D>< F4 E>><D>N ?>656=>N -?> 2 LF., 

" ?>?4F>N - 2 LF., 

" OM<>4<< 7 =5 <5=L5 0,5 <3 

" ?>?>F=<M5< 7 4755EF>6>W F>4=<=< 1,5E 2,0 <., 45> 6>=?>G=>N >>L<>N. 

&5E=VG=V 74E>4< 7 >E>D>=< ?D4FV. 

�D>5>F>< ?5D5454G5=> DO4 >D74=V74FV==>-F5E=VG=<E 74E>4V6 7 F5E=V>< 557?5>< F4 >E>D>=< 

?D4FV, 4 E4<5: 

6V444?V <V6 D>5>G<<< <VEFO<<, F5E=>?>7VG=V ?D>E>4< ?D<==OFV G 6V4?>6V4=>EFV 4> 4VNG<E 

=>D<4F<6=<E 4>>G<5=FV6 F4 74557?5GGNFL 557?5>G >5E?G7>6GNG>7> ?5DE>=4?G F4 >?VT=FV6 

6?4LFG64==O 74E<EFG 6V4 5?<E>46>< F4 EF4F<G=>W 5?5>FD<>< 6V4?>6V4=> 4> 6<<>7 �%&' � 

�. 2. 5-38:2008 

�?4LFG64F< 7475<?5==O >5?44=4==O 7 <5F>N 74?>5V74==O 4VW EF4F<G=<E F4 5?G>4NG<E 

EFDG<V6. 

4.2 &5E=VG=V 74E>4< 7 >E>D>=< ?D4FV. 

�D>5>F>< ?5D5454G5=> DO4 >D74=V74FV==>-F5E=VG=<E 74E>4V6 7 F5E=V>< 557?5>< F4 >E>D>=< 

?D4FV, 4 E4<5: 

- 6V444?V <V6 D>5>G<<< <VEFO<<, F5E=>?>7VG=V ?D>E>4< ?D<==OFV G 6V4?>6V4=>EFV 4> 

4VNG<E =>D<4F<6=<E 4>>G<5=FV6 F4 74557?5GGNFL 557?5>G >5E?G7>6GNG>7> 

?5DE>=4?G F4 >?VT=FV6 

- 6?4LFG64==O 74E<EFG 6V4 5?<E>46>< F4 EF4F<G=>W 5?5>FD<>< 6V4?>6V4=> 4> 6<<>7 

�%&' � �. 2. 5-38:2008 

- �?4LFG64F< 7475<?5==O >5?44=4==O 7 <5F>N 74?>5V74==O 4VW EF4F<G=<E F4 5?G>4NG<E 

EFDG<V6. 



9 

 

 

�<. �V?L>. �D>. 7 4>>. �V4?. �4F4 9 

�D>. 

      

      

 
 

 

�=
6
. 

7
 >

5
. 

�
V4

?
<

E 
V 

4
4F

4 
�

4<
. 

�=
6
. 

7
 

28-04-20223-�� 

5 �%�$��� �������,�,��� �$�$������ %�$�����-�. 

�G4V65?L=>-<>=F46=V D>5>F< ?>6<==V 74V=E=N64F<EO V7 4>FD<<4==O< 6<<>7 

?D<D>4>>E>D>==>7> 74>>=>446EF64 F4 74557?5G<F< 5D5>F<6=<= 74E<EF =46>>?<L=L>7> 

E5D54>6<M4 6V4 745DG4=5==O V ?>L>>465==O. 

�D< 6<>>=4==V ��$ =5>5EV4=> 6<>>=G64F< =4EFG?=V 74E>4<: 

- �G4V65?L=5 E<VFFO 6<657F< 6 <VEFO, E?5FV4?L=> 6<7=4G5=V; 

- �5 4>?GE>4F< ?D>=<>=5==O 6 7DG=F F5E=>?>7VG=<E EF>>V6, ?4?<6=>-<4EF<?L=<E 

<4F5DV4?V6; 

- �G4V65?L=> <>=F46=V D>5>F< 6<>>=G64F< 7 4>FD<<4==< 6<<>7 M>4> ?>?5D5465==O 

?<?>GF6>D5==O  V 745DG4=5==O ?>6VFDO=>7> 54E5==G. 

�D< 6<>>=4==V ��$ =5>5EV4=> =5GE<?L=> 6<>>=G64F< 6<<>7< ��� �.3.2-2-2009 

«&5E=V>4 557?5>< 5G4V6=<FF64». 

$>7<VM5==O FD4=E?>DF=<E L?OEV6, E>?44EL><E <4=44=G<>V6 =5>5EV4=> >7>D>4<F<, 

?>6<==V 5GF< 6EF4=>6?5=V ?>>47G<>< ?D>W74V6 V ?D>E>4V6, 4>D>6=V «�9W74», «�<W74», «$>76>D>F», 

«,6<4>VEFL DGEG 4> 5 ></7>4» F4 V=. �5557?5G=V 7>=< >7>D>46GNFLEO, 45> =4 WE <564E 

6EF4=>6?NNFLEO ?>?5D546G64?L=V 7=4>< F4 =44?<E<. 

�EV <5F4?56V G4EF<=< <4L<= 7 5?5>FD>?D<6>4>< ?>6<==V 5GF< 7475<?5=V. 

�<<<>4GV F4 DG5<?L=<>< ?>6<==V 5GF< 6 74E<E=><G 6<>>=4==V. 

�?O 74E<EFG ?D4FV6=<>V6 5G4V6=<FF64 6V4 FD46<G64=L G =5557?5G=<E <VEFOE ?5D5454G<F< 

?>?5D546G64?L=V F45?<G><. �5D5454G<F< EE5<< 45> ??4=< 564>G4FVW 7 ?D<<VM5=L ?D< <>6?<6<E 

464DVOE G< ?>6564E; 

$>5VF=<>< F4 ?5DE>=4? 74557?5GGNFLEO E?5F>4O7>< V 74E>54< >E>5<EF>7> 74E<EFG G 

6V4?>6V4=>EFV 7 74?G756<<< =>D<4<<. 

$V65=L LG<G 6 ?D<<VM5==OE ?>6<=5= 6V4?>6V44F< =>D<4F<64<. �E>D>=4 ?D4FV 6 

5G4V6=<FF6V V 5>E??G4F4FVW 74?D>5>F>64=>7> >59T>FG 74557?5GGTFLEO ?D<==OFFO< 6EVE ?D>5>F=<E 

DVL5=L 6 EFD>7V= 6V4?>6V4=>EFV 7 ��� V ��� �.3.2-2-2009. 

6 ��%��� ����.�����%&� 

�?O >D4M>W >DVT=F4FVW 6 >>D<4>DV 64DF> D>7<VEF<F< EE5<< 564>G4FVW, F4>F<?L=V 

V=D>D<4FV==V ?>>46G<>< F4 ?V>F>7D4<<. �=D>D<4FV==G F4>F<?L=G F45?<G>G 7 ?V>F>7D4<>N 

?D<<VM5==O E?V4 ?>6VE<F< =4 6<E>FV 1,2-1,5 < V =4 6V4EF4=V 0,3 < 6V4 465D=>7> >F6>DG. 

�>=4 <4T D>7F4L>6G64F<EO =4 EFV=V F4>, M>5 WW =5 74FG?O?< 6V4G<=5=V 465DV. �V>F>7D4<4 

F4/45> F45?<G>4 7 =476>N ?D<<VM5==O ?>6<==V 5GF< 6<>>=4=V 75V?LL5=<< LD<DF>< F4 6 

>>=FD4EF=><G E?V66V4=>L5==V >>?L>DV6 V LD<DFV6 6V4=>E=> WE=L>7> D>=G. 

�?4=< 564>G4FVW E?V4 D>7<VMG64F< F4>, M>5< 65DE=V= >D4= =5 ?5D56<MG646 1,5 <. �464=> 

D>5<F< WE F4>F<?L=<<<, 74 F<?>< <=5<>EE5<<. �>44F>>6> >5?4LF>6GTFLEO V=D>D<4FV==4 =4 

?DO<=4 4 ?>DGG5=L =4 6<E>FV 0,9 < 

%F4=44DF=4 >>=FD4EF=VEFL 5?5<5=FV6 EF4=>6<FL LVR 30 

�4 L?OE4E DGEG <4NFL 5GF< >>=FD4EF=> 6<4V?5=V: 

" 465DV F4 ?D>DV7<; 

" 7<V=< DV6=V6 (EE>4<, ?4=4GE<, ?>DV6><); 

" >>?>=<, >?>D<, <55?V, GEF4F>G64==O F4 V=LV >5'T>F<; 

" 6<<<>4GV, D>75F>< F4 V=LV ?D<EFD>W. 

�>D5<> <4D>GNFL >>=FD4EF=>N E<G7>N 6EV 6<M5?5D5?VG5=V >5'T>F< F4 4>44F>>6> 4 

E>?O=V ?>65DE=V. ,<D<=4 >>=FD4EF=>7> <4D>G64==O 4 0,01-0,02 <. 

%>?O=V F4 ?>674>66=V 5?5<5=F< D5>><5=4>64=> <4D>G64F< 7>D<7>=F4?L=<<< E<G74<< =4 

6<E>FV 1 < F4 1,5 <. �65DV F4 ?D>DV7< <4D>GNFLEO ?> >>=FGDG >F6>DG, E>?O=V ?>?>F=4 4 

7>D<7>=F4?L=<<< E<G74<<. �=LV >>=EFDG>FVW, M> =46<E4NFL, 4 F4>>6 >>?>=< D5>><5=4>64=> 

<4D>G64F< 674>66 >>=FGD4 >>=EFDG>FV=. 
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�4 ?>65DEV 74?D>5>F>64=> V=>?N7<6=<= FG4?5F 6 FG4?5FV ?>6<==V 5GF< 6EF4=>6?5=V 

?>DGG=V 4?O ?N45= 7 >5<565=<<< <>6?<6>EFO<<. 

7 ��%��� �� ���$�����$�����.. 

� <5F>N 7=<65==O 5=5D7>E?>6<64==O, 7=<65==O 6<FD4F ?4?<6=>-5=5D75F<G=<E D5EGDEV6 

?D>5>F>< ?5D5454G5=>: 

- 6<>>D<EF4==O EGG4E=<E F5??>V7>?OFV==<E <4F5DV4?V6 4?O GMV?L=5==O 6V>>==<E F4 

465D=<E ?D>DV7V6 

- 6<>>D<EF4==O EGG4E=>7> 5=5D7>755DV74NG>7> >?4?N64?L=>7> F4 6>4>7DV==>7> 

>5?44=4==O 7 >>5DVFVT=F>< >>D<E=>W 4VW =5 <5=L5 90% 

- 6EF4=>6?5==O ?D<?44V6 >5?V>G 6<FD4F 5?5>FD>5=5D7VW 

- 6<>>D<EF4==O 4?O >E6VF?5==O 5=5D7>755DV74NG<E E6VF<?L=<>V6 V7 EFG?V=G4F<< 

D57G?N64==O ?>FG6=>EFV 

74EF>EG64==O D57G?NNG<E ?D<EFD>W6 4?O D57G?N64==O F5<?5D4FGD< 6 E<EF5<V 

>?4?5==O 6 74?56=>EFV 6V4 F5<?5D4FGD< ?D<<VM5=L. 
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8 $��$�%'��� ���%' ��%������ (����������,��%&�) 

8.1 �474?L=4 E4D4>F5D<EF<>4 5G4V6?V: 

- �<E>F4 4> 65DEG =5EGG<E >>=EFDG>FV= ?>>D<FFO  <. 

- �474?L=4 ??>M4: 3664,31 <2; 

- �V?L>VEFL ?N45=, O>V ?>EFV==> ?5D55G64NFL =4 >59T>FV: 97 >EV5. 

8.2 $>7D4EG=>> 74 >V?L>VEFN >EV5 

- �>6?<64 =5557?5>4 4?O 74>D>6'O V 6<FFO ?N45=, O>V ?>EFV==> ?5D55G64NFL =4 

>5'T>FV[N1]:  97. 

- �>6?<64 =5557?5>4 4?O 74>D>6'O V 6<FFO ?N45=, O>V ?5DV>4<G=> ?5D55G64NFL =4 

>5'T>FV[N2]: 40+97=137 >EV5.  

- �V?L>VEFL >EV5, M> 7=4E>4OFLEO 7>6=V >59T>F4 (>V?L>VEFL >EV5 O>V >5E?G7>6GT >59T>F): 

[N3] =  137. 

 �D4E>6GNG< FV ?>>47=<><, 77V4=> F45?. 1 >59T>F 6V4=>E<FLEO 4> >?4EG =4E?V4>V6 

(6V4?>6V44?L=>EFV) %%2. 

8.3 $>7D4EG=>> 74 D>7<VD>< 5>>=><VG=<E 75<F>V6 

�D>7=>7 75<F>V6 6<7=4G4TFLEO D>D<G?>N: 

$ = E × � �1 2 �
� T�� × ��,� , 

45 

! =  0,45 3 >>5DVFVT=F, M> 6D4E>6GT 6V4=>E=G 4>?N >E=>6=<E D>=4V6, M> ?>6=VEFN 

6FD4G4TFLEO ?D< 6V4<>6V; 

��� =$60 D>>V6 3 6EF4=>6?5=<= F5D<V= 5>E??G4F4FVW 4?O 5G4V6?V; 

��,� = 1 / 60 ~=  0,01673 >>5DVFVT=F 4<>DF<74FV==<E 6V4D4EG64=L; 

� = 5470 F<E. 7D=. 364DFVEFL >59T>FG 4=4?>7G. 

&4><< G<=><, 

$ = 0,45E 5470E 1000 E (1 - 0,5 E 60 E 0,017)= 1206 135 7D= 

� <V=V<4?L=<E 74D>5VF=<E ??4F4E: 1206 135/6500 =   185,6 <.D.7.? 

�D4E>6GNG< D>7<VD< 5>>=><VG=<E 75<F>V6, 77V4=> V7 F45?. 1, 5G4V6?O 6V4=>E<FLEO 4> >?4EG 

=4E?V4>V6 6V4<>6< (6V4?>6V44?L=>EFV) %%1. 

 

�<E=>6>>. �4 >D<F5DVO<< F45?<FV 1, 6D4E>6GNG< ?. 4. 1, 5G4V6?O 6V4=>E<FLEO 4> >?4EG 
=4E?V4>V6 (6V4?>6V44?L=>EFV) %%1. 

 

���   �4L>554 �. �. 
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'<>6=V ?>7=4G5==O &<? >?>DO465==O �<4< D>5VF �V?L>VEFL

&<? 5?5<5=F4 , E � �V?L>VEFL

&<? 5?5<5=F4 , E � �V?L>VEFL

&<? >?>DO465==O �<4< D>5VF �V?L>VEFL

'<>6=V ?>7=4G5==O &<? >?>DO465==O �<4< D>5VF �V?L>VEFL

%?5F<DV>4FVO 6V>>= O>V ?V4?O74NFL 45<>=F46G

?V4?>74 (?4D>5F) L?VDG64==O, D4D5G64==O 175,88 <2
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